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GRADE 10 ESSENTIAL | Name:

QUIZ WEEK 3 - 221124 Date:
Weekly quiz.

Closed book. Use your cheat sheet (use mine for now if necessary)
Conversion Tables. Always allowed the conversion tables

Round all decimal answers to the nearest 0.01 unless othen@e Indicated
Each individual question is worth two marks
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2. If 8 bananas cost $5.60, determine thexcost of 14 bananas.
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3. Convert the units of measure as indjccated (use either method)
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Conversions SI to Non-SI Length
I metre [m] = | 3.2808 feet [f1] r Conversions Non-SI Im — Mass
I metre [m] = | 39.37 inches [in] ] Kilogram kg = 2.205 pounds 1b
€ kilometre [km] = | 0.6214 miles [mi]): | tonne = 1.1 ton
| mile [mi] = | 1.609 km

| inch [in] 254 cm




4. Convert as indicated
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5. Add or subtract as indicated: Liltis.
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6. Jason comes to work at 08:45 and leaves at 16:30. He gets a 30 min

lunch break. Determine the amount of time for which he gets paid.
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7. Kele gets paid $14.30 per hour. He gets overtime pay after 8 hours in
any day. Overtime pay is ‘time and a half’. Calculate Kele's Gross pay for

the week. His work schedule hours are as follows:
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8. Farmer brown has 30 animals. Some chickens and cows. He is not
sure how many of each he has. He knows they have a total of 100 legs.
How may chickens does Farmer brown have? [Hint: Guess and Check]
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BONUS QUESTION (extra marks if you need them)

9. Determine the sum of all the counting numbers from 1 to 40

41 + 3+ ¢
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Lol, we have done this a few times!
Find a simple pattern
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That was it!

How students managed to turn @ twenty
minute quiz into more than 60 is rather

scary!
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